S RIVAL

m FOOTWELL PROTECTION INSTALLATION MANUAL

E MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM

For: CForce UForce 1000 EPS (2019-)

2444.6898.1;
444.6898.1

i O[S

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU




EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIn Kpenex

EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
RU BKpyTuUTb Ha HECKONbLKO 060pOTOB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKONBLKO 060POTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [IBmxeHune

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU PacnonoxeHue

EN Screw Arrow
DE Drehungsrichtung
RU lMosopoTt




S RIVAL

EN Drill EN Ratchet 10! N EN Office Knife
DE Bohrer 26 mm DE Ratsche 3 TORX % DE Buromesser
RU Apens RU TpewéTka é RU KaHLenspcKuii HoX

1 2 3] a 5
& & =
M6x25 x4 | M8x25 x2 | M8x25 x6 | 28 x12| @6 x4 |28 x2
= 5
Ny
M8 x6










S RIVAL

1;5




S RIVAL




